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Economics
Paper II

AL ITET

PrERIECTN |
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This Paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

GOl : A TRAULThd THY U (50) gl TEd fonl STed. Uoieh TR g (2)

U SRd. @d U Wi

Real balance effect operates
through :

(A) Investment

(B) Consumption

(C) Taxes

(D) Government spending

Friedman’s demand for money
function basically shows which one

of the following statements :

(A) Income velocity becomes a
function of rate of interest and

inflation

(B) Income velocity becomes a

function of money supply

(C) Money demand always becomes

an inelastic function

(D) Money demand became

independent of rate of return

e T fredss aiome ammha i
Sl

(A) TEH

(B) 394

(C) =X

(D) WEHE T

TRIeH S U9 AATO %o @eadeh]
Haal faum qed: efaar ?

(A) W=l 9R=e 9T § oA gL A

qERTER X I ®ed e

(B) =it 9R=rer o § YeTmrean Raear
e B

(C) Yerm=it |rTvlt ST STerereie o
B

(D) ST AR YRaTeATeA SR Telfed
T
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Devaluation is resorted to :
(A) Encourage exports
(B) To increase the growth rate

(C) Give more value to home

currency
(D) Tide over external difficulties

The International Monetary Fund

started functioning on :
(A) 1st March, 1944
(B) 1st March, 1945
(C) 1st March, 1946
(D) 1st March, 1947

The country which produces

maximum tea in the world is :
(A) India

(B) China

(C) Sri Lanka

(D) Japan

MAY - 11216/II—-D

FHIH A HNUMHET el Sd

(A) Trafdten =Te SvarEet

(B) Y it Aefavarare]

(C) <M Tl S fopyd Soamanat

(D) = TSR AG HLIITHIS

ARSI A Erefter feastt swrid
EIC I

(A) 1 9, 1944
(B) 1 9, 1945
(C) 1 9, 1946

(D) 1 9/, 1947

ST t{‘él‘;{ AT S ScHIeT =/l =t

F
(A) IR
(B) =M
(C) #icre

(D) SU™




Which of the following markets are
independently regulated by Forward

Market Commission ?

(A) Mutual Funds

(B) Commodity Exchanges

(C) Stock Market

(D) Foreign Exchange Markets

In India, minimum support price for
agricultural products is finally

approved by :

(A) Union Cabinet

(B) Ministry of Agriculture
(C) The Parliament of India
(D) The President of India

Which state produces maximum

Soyabean in India ?
(A) Uttar Pradesh
(B) Bihar

(C) Rajasthan

(D) Madhya Pradesh

6.

MAY - 11216/II—-D

ST IS STRENT EelteTdeh!  ahIoTd

o te N
?

ISR (Market) Tdaqor fA=fa sl ¢
(A) =HIA e
(B) =& faf e

(C) YMYedd dNR

(D) WhF I FNR

WRATd IqATerr=a fohAm em femadien

Al AreTehed foeft S

(A) H< AfHses
(B) FE HAA
(C) YRA=N HEE

(D) YRare TSt

TRATAA  WTefterdsh! HIedl TSI

HEmeTd Hald S 3caed Bid 2
(A) ST

(B) faer

(C) TSTEA

(D) TGS
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10.

The largest importer of Indian

textiles is :
(A) Italy

(B) Germany
(C) Singapore
(D) USA

The market system fails to produce

public goods because :

(A) There is no need or demand for

such goods

(B) Private firms cannot restrict the
benefits of such goods to
consumers who are willing to

pay for them

(C) Public enterprises can produce
such goods at lower cost than

private enterprises

(D) Their production seriously
distorts the distribution of

income

9

10.
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YR &=t Faid S A=&d

T ARG .
(A) gt
(B) ST

(C) famR
(D) TafEnt

SIS HIeSIeh S 3G hvAT

I B, HROT :

(A) o1 S TS fehall ST ARTON 9

(B) @ISAft STURTHE SN T s

S IR 1 TRES! fohHa e
TR e, A Fifed o9 Iehd
g

(C) UESIer STITEEen oT°N I«
I ST SURTHEAT=A =i

qaTT & TEid e Iehad

(D) = STIEATYes 3= foawum Tefi

faequ feior 2




11.

12.

Under what conditions a

monopolist’s output is efficient ?

(A) Third degree price discrimi-

nation

(B)

Second degree price discrimi-

nation

(C) First degree price discrimi-

nation

(D) When there is no price

discrimination

A Pigouvian subsidy :

(A) cannot exist with externalities

(B) is the

same thing as a

Pigouvian tax

(C) is measured in terms of

Pigouvian dollars

(D)

moves production to the socially

optimal level of output

11.

12.
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= A A AN A ~
HadgqRIdlel ScHIgd CllddlctYenl onlVicH]

giifeerdia sriem omEa ?

(A) TAF THEOT AN

B) fgdta g1 geasg

(C) Wo™ TH A9

(D) Siegl HeAws ohell ST ARl

RN PR

(A) TRl STHAHT 3T ¥hd el

(B) U™ dhYoiid Y ST

(C) HiTuvitd Sfeddl Histel Sd

(D) BcATEATAT Hlleclchcibau 35dH

AT Uldesiehe  HdTd.
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13.

14.

In Tobin’s portfolio balance

approach to money, the indifference

curve of plungers are necessarily :

(A) Negatively sloped and concave

(B) Positively sloped and convex

(C) Positively sloped and concave

(D) Negatively sloped and convex

Which of the following has more

elastic demand ?

(A A commodity without
substitutes

(B) A commodity with close
substitutes

(C) A commodity on which a small

fraction of income is spent

(D) A commodity the use of which

cannot be postponed

13.

14.
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e Yeme J|EUE g AT
gl ARUTAT (R ok
STASUT) Hekil= THITGeh 3TavIHd

(A) 30 WO MO (STREATTIN)
e

(B) ¥ WaUId™ U (SRR
EIEED

(C) ¥ Taude o7 (STRYEATRT)
CINCED

(D) 39 FAUE ST (SRR
EIREED

TCITCTIeh! ShIve Sqel HIToR S1ferh

AerEieh TEd ?
(A) <1 I GARN %] THad

(B) <1 Il SEcdd A A

(C) <1 IRER Iq=Tal ASl ¥R ©=

el Sl

(D) <1 ST SYHN SATSI0TeR ZTehall o
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15. The marginal

16.

revenue of a

monopolist facing linear demand

curve approaches price when

demand elasticity :

(A)

(B)

©)

(D)

@

(i)

(A)

(B)

(C)

(D)

approaches zero
becomes negative
approaches infinity
approaches one

Income effect of a price change

is always positive.

Substitution effect of a price
change is always in the opposite
direction of price change

(negative).
Statement (2) is true but not (ii)
Statement (i7) is true but not (7)

Both statements () and (ii) are

true

Both statements () and (ii) are

false

MAY - 11216/II—-D

15. T HETUGeh ST Hekie [l SERTEE=
Y= YTl deel fhadiuad! g STl

16.

ARTUi= Safeehdl & :

(A) YRS S

(B) 3% =

(C) 3Tdmhe S

(D) 1% S

(i) THad seamEn 3= aiomm SeH=
CERCEG

(i) Tohwa srgaren qatEa oo SeH=
o aearen foeg fgm Som
(1) 3THdl

(A) fagm () ¥ 90 (i) &

(B) fa&m (i) ¥ U (7)) ARl

(C) faum @) snfor (i) 6§

(D) faam (i) 7 (i) et 3T

[P.T.O.



17.

18.

19.

Generally under monopoly the cross-
elasticity of demand with other goods

or services is :

(A) very high

(B) moderate

(C) very low

(D) unity

Pure oligopoly is one where :

(A) There are many firms producing

homogeneous product

(B) There are few firms producing

homogeneous product

(C) There are many firms
producing differentiated
product

(D) There are few firms producing

differentiated product

Market mechanism are unlikely to

provide :

(A) Prices

(B) Non-rival goods efficiently
(C) Supply and demand

(D) Equilibrium

17.

18.

19.
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HeHTEROT0l HRGRIAE Sedlfed sheiedl
S TR - YA HeHida 8%
Aafaehal &

(A) TU S 39d

(B) H&9H STHd
(C) TU AT 3TEd
(D) T IHd

iz TUSHIYeR. BN 3T E JINIR

(A) G4 ITEEAT THisTE a9
JAIGT h{dld

(B) &l IIHEAT Tehfo€l T
BAIGT eh{dld

(C) T EnTEwen faafed svqe 3
h{dld

(D) ! e faufed axq= 3
EZGI

SRS WeAeAteh! H3elt T < 1ehd
TR ?

(A) Terwt

(B) eTq€l %] A&

(C) qu&al afor Ayoft

(D) &
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20.

21.

In the long-run competitive

equilibrium, the theory predicts

that :

(A) TC = TR and MC = MR

(B) Firms operate at maximum

average total cost

(C) There is an incentive for entry

or exit of firms

(D) TC # TR and MC # MR

“Excess capacity” and selling costs
are the essential characteristic of the

firm in market of :

(A) Monopoly

(B) Perfect competition

(C) Monopolistic competition

(D) Pure competition

20.

21.
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quf TS STERIei FHdreTsTe g

W Uhid HA ¢

(A) THU T = THI Wi 01 o=
Td = 9EN 9T

(B) SENTEEN HEqH TSR THU @

Qi Scaie shidld

(C) JTFMA SMe®A IR T Jow
3T ST STRTEEN= Sfgtae
SR ot STEd

(D) TR ©= # TH ATt A7 HH=
Td # GHN 9T

* srfaftera e’ snfor Tt @< Shivren

TSR ST TUIfasy e ?

(A) TSR

(B) qu e

(C) FeRiRIge el

(D) s i
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22.

23.

24.

If the production of a good creates
negative externalities the private

market will produce :

(A) too much of the quantity at too

low a price

(B) too much of the quantity at too

high a price

(C) too little of the quantity at too

high a price

(D) too little of the quantity at too

low a price
The aggregate supply of land is :
(A) Absolutely elastic
(B) Absolutely inelastic
(C) More than unit elastic
(D) Relatively elastic

Opportunity costs are also known

(A) spill-over costs

(B) money costs

©)

alternative costs

(D) external costs

22.

23.

24.
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S FEEAT AT FUT TRl AT

W G IR

(A) &= GUE ST HEE 36

o [a [a)

[eh Al endi

Eud hHl

(B) I&= EUa S O ScareH

e ST fehAdian e

(C) gud KU AEE 3G ICRERSIIN

o n [aV
[eh Rl endl

(D) EU= HH A ScAR GUE HH|

~ ¢

[ehH

o a
[l endlc

JH= THU GEQ
(A) gl et STEdl

(B) YUl Tcrereieh ST

(C) UhUe S oia=icsh 3Tl

(D) oA et 3Tl

dehfeqess T § I AEME AeErd
ST ¢

(A) Fieau wd
(B) 41 @
(C) v @
(D) <& T
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25.

26.

27.

The term fiscal federalism was

introduced by :

(A) Dalton

(B) Seligman

(C) Musgrave

(D) Amartya Sen

The basis of corporate tax is :
(A) Total turnover of the firm

(B) Profit after distribution of
dividend

(C) Profit before distribution of
dividend

(D) Capital employed in the firm

The MPC of a consumer is 0.80 and
APC is 0.40, then the income

elasticity would be :
(A) 0.5
(B) 2.00
(C) 1.20

(D) 0.40

25.

26.

27.

MAY - 11216/II—D
TESTEE & 9e 9t

SR TS 1
et
(A) Sl
(B) HferH
(C) "HI=
(D) 39

| =T YR B oSTHal

A o W oY
(A) SUAMETI THUT Iedlerd

(B) onureT faaomar e Tfgeren

THT
(C) wmreT faquomemei=n =
(D) FIH TS Sl Wgad

IR AT TR Fa=it 0.80 30T
FOEH YA F<iT 0.40 3T, TR Iq=
[GECIC I

(A) 0.5
(B) 2.00
(C) 1.20

(D) 0.40
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28. The number of telephone calls | 28. W fHfer=n A 293 Jeal el

received in 293 successive one- ST *TMH\tﬂ T et ool ot

minute intervals are shown as . . )

follows :
0 10
No. of Calls Frequency
0 10 1 28
1 28 2 35
2 35 3 45
3 45 4 65
4 65 5 59
5 52 6 39
6 32
7 12
7 12
8 14
8 14

ST il HUE S0 Igeteh ST9

The mean and modal number of calls

AR
are :
(B) 3.89, 4 (B) 3.89, 4
(C) 6, 3.89 (C) 6, 3.89
(D) 4, 3.89 (D) 4, 3.89

14



29.

30.

If the coefficient of correlation
between X and Y is -1 or +1 and
a, b and ¢ are constants, then X and
Y are connected by which of the

following relations :

aX
(A) b_Y_C
B) aX+bY =c

c

= —aY
©) aX 4

c

= —4X
D) aY 4

Which relationship between the

three means is correct ?
(A) AM. > GM. > HM.
(B) HM. > G.M. > A M.
(C) GM. > AM. > HM.

(D) AM. = G.M. < H.M.

29.

30.

MAY - 11216/II—-D

SR X oNfor Y amEie eday Heluieh
—11%|§T>|T+131@F[31TﬁTa,b,c%pf
fler W e, W X emfor Y

T WeteTdeh! hITcAT HeeM ool
AT ?

aX _

(A) bY

c

B) aX+bY =c¢

c
—=a¥Y
©) aX ¢

¢ =aX

D) - =

T UH A R0 Hae SeR

e ?
(A) AM. > G.M. > HM.
(B) HM. > G.M. > A M.

(C) GM. > AM. > HM.

(D) AM. = G.M. < HM.

15
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31. The formula for constructing index

32.

33.

using Laspeyres method is :

(A) Py = il;—?cq]f x 100
B) Po = Z;—:; x 100
©) Po = Zj—quz x 100
D) Po = ;’;EZ; x 100

When (3, is greater than 3, the curve
will be :

(A) Mesokurtic
(B) Platykurtic
(C) Demikurtic
(D) Leptokurtic

The name of the economist who first
defined the concept of shadow prices
is :

(A) Rosenstein Rodan

(B) H. Leibenstein

(C) J. Tinbergen

(D) G. Myrdal

MAY - 11216/II—-D

31. oreEd feeTeRT= RISl Tefiel YETER

32.

33.

el S

_ 2Pod

(A) Py, = x 100

1711

2pq,
B) Py =—=—— x100
B) Fo 2o,

2piq,
P,, =——— x100
C) o S50ds

x 100

PlZ‘h
D) Por =
020

SRl By, B 3 U&T S ST, deR1 Wk
T ST IT9al

(A) T
(B) wifewfi®m
(C) eHiHfH
(D) W<k iE®R

AT fRfaa a1 AHeyadl RO
AAIMSTN GIH AT hell 2

(A) TgwRT JeH
(B) TH. Tge e
(C) 3. fetastq

(D) it foesta
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34.

35.

HDI is constructed with reference

to :
()
(z1) Real GDP/per capita

Life expectancy of birth

(zi1) Inflation index

(iv) Nominal GDP

The correct answer is :
(A) (i) and (i7)

(B) (i) and (ii7)

(C) (i) and (iv)

D) Gv)

Harrod-Domar model of economic

growth is based upon :
(1) Warranted growth rate
(11) Investment growth rate
(zi1) Productivity growth rate
(v) Natural growth rate
The correct answer is :

(A) (i) and (ii7)

(B) (i) and (i)

(C) Gv)

(D) (@) and (iv)

34.

35.

MAY -11216/I1—D
HDI =it TISToft Wieftel sei=a STER shefl

S
(i) Sl AN 3Tae
(i) TSR AT T ST ScATEH

o

(111) EORITAS TH

~
GRllen

(iv) AT T ST IR
RECEST S

(A) () 3nfor (i)

(B) (i) AT (3i1)

(C) (itd) 3T (iv)

(D) (@)

anfedeh AT TWE-SR UfqHME AR
TURa 3Te

@)

MC2E I EA

(i) T[AAE FHIEX

(iif) ICAGhHAT JGIa
(iv) “Efifs FER
I IW BN
(A) ) =1 (i)
(B) (i) 30T (id)
(C) Gv)

D) @) =T (v)
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36.

37.

38.

Adam Smith argued in favour of a

policy of :

(A) Protection

(B) Free trade

(C) Self-sufficiency
(D) Minimum welfare

Economic growth results from an

increasing :

(A) Propensity to consume
(B) Propensity to import
(C) Propensity to export
(D) Propensity to save

In ‘Global Hunger Index’ 2013
report by International Food Policy
Research Institute (IFPRI), India

has been placed at :
(A) 65th Rank
(B) 66th Rank
(C) 63rd Rank

(D) 68th Rank

36.

37.

38.

MAY - 11216/II—-D

sfeq feme A = GRom= d iR
el

(A) HEm

(B) e AR

(C) wEEfeiar

D) fFam weam

Gt I Sedd J&1 Smead
amfdier eifvgsl B ?

(A) SusiT T

(B) AT HI0AT= Yl

(C) frafq shvar=ht e

(D) F=Fd HIOAT Yl

20139 AW TG HROT

Ny "€=a1 (IFPRI) af¥eeh SUMHER

e STRATAIER WRATET %A 5]

e -

(A) 6591
(B) 664
(C) 63=

(D) 681
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39.

40.

41.

The Economist who stressed the role

of the entrepreneur in development

was :

(A) Hirschman

(B) Nurkse

(C) Rosenstein Rodan
(D) Schumpeter

The concept of organic composition

of capital is given by :
(A) Marshall

(B) J.S. Mill

(C) Karl Marx

(D) Adam Smith

Which one of the following policies
will not be useful for bringing the
economy out of unemployment

equilibrium ?
(A) a rise in minimum wage rate
(B) a in

rise government

expenditure
(C) a rise in taxes

(D) a rise in money supply

39.

40.

41.

MAY - 11216/II—D
forehTaafnad STHU SETSTehT=l Y[HeR
HIUCT AR SR hedl ?

(A) TR
(B) T

(C) TR UM

(D) ¥t

ieaere Hisd HETdl Hhe
I TS,

(A) HRfA

(B) S.uwg. foa

(C) el e

(D) 3feq f&y

EITATeAUehT ShIUTd  &NTOT STSHT=AT

AT TR STefeewd™ al

FIEUIAY IUYHR 3 RN ?

(A) fHM 9dq SUdia a6

(B) TR EEidd 9@

(C) A ae

(D) UeT=N RSUNE de
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42.

43.

If the ratio of currency to demand
deposits ratio increases, the money

multiplier value :

(A) increases

(B) decreases

(C) does not change

(D) change in equal proportion

In classical macro-economic model,
automatic full employment is

ensured if :

(A) Excess demand in labour
market leads to rising real

wage

(B) Excess demand in labour
market leads to falling real

wage

(C) Excess supply in labour market

leads rising real wage

(D) Real wage does not change
whether there is excess demand

or supply in labour market

42.

43.

MAY - 11216/II—-D

SR Tl SO HETof St AT T[uiR
e, W U U T

(A) =&

(B) ®ed

(C) Sieerd el

(D) FHYHMG SEeTd

T TET 1Y o, TeEfed

ol IS @ 3 9d S]

(A) gt STeTRrdTe Siffiert Armfiges
e T a6 BId 3TEd

(B) #fier asRIdie stfafied ArTofiges
e TG B B S

(C) =ik sete Stfafe qRaeHe
e HS[{d 91e Bd 3Td

(D) #iftreh STSTTer SAfefier @l o

RESMes darad Helld dgd Bl

THA
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44.

The imposition of an import tariff by

a nation :

(A) Usually improves the nation’s
terms of trade and increases the

volume of trade

(B) Worsens the nation’s terms of
trade but increases the volume

of trade

(C) Worsens the nation’s terms of
trade and reduces the volume

of trade

(D) Usually improves the nation’s
terms of trade but reduces the

volume of trade

MAY - 11216/II—-D

44. <YM I Yok AR

(A) FHM=Id: QAT Heageddl A

YR SIS A0 S0 AR

AR aTeadl

(B) ¥ Heaqeddl A B HSd
S|t B 1 1 > e B
el

sAlele

(C) XM= Jeaqeddl SUd B HEed
MO S0 ST
HEad!

sAlel

(D) 9 QM= Hedqeddl S4d

YU SIS S0 A0TSR

AR Seddl

45. Until 1971, the SDR had the same | 45. 1971 9¥d SDR ¥ Hcd A=Al F9M
value as : B :
(A) an ounce of gold (A) TH 9 9
(B) a pound of gold (B) T& die |
(C) a US dollar (C) TH 4.TF. TR
(D) a British pound (D) T fafew e
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46.

47.

48.

The classical theory of comparative

advantage is based on :

(A) the labour theory of value
(B) law of diminishing returns
(C) law of increasing returns
(D) tariffs

Which one of the following is the

immediate effect of tariff ?
(A) fall in production

(B) rise in production

(C) fall in price

(D) rise in price

Stability in the Keynesian cross

model requires :
(A) MPC to be equal to 1

(B) MPC to be less than 1 but

greater than zero

(C) MPC to be greater than 1

(D) MPC to be non-negative

46.

47.

48.
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T dreafer oy fagr 3R senfid

AR

(A) oI o\ THgT

(B) w2 Y=

(C) Tl g faga

(D) 9xIeeh

Geehl=l dlcehlod IV ROTH ShIvT
e ?

(A) 3R 2
(B) 3R 9@
(C) fohwdia =2
(D) forwdia a@

SH-Tfrd shig fqaea feraast & e
AEYTH A :
(A) M SU9 Yl Tk el

(B) HHT SUHNT Yo TahTdal shHl W
NGRS e ]

(C) HHr1 UM il TehrdaT S
&l

(D) T ST Gl SRS ST
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49. A long-run Phillips curve will show | 49. Tieeei™ fhefw=n a%, sRSTET X
no trade-off between unemployment ST g Ard TTATTUhT STl
rate and inflation under which of the Rferdd TR SREUIR AR 2
following circumstances ? (A) TEFETEST= @ J0 21 e
(A) Inflation rate does not adjust (B) WEHTEI=AT S0 YeH St
(B) Inflation rate always has an el TE!

upward trend (C) 3Tweish (Seeult Brom=ar) STiefH
(C) Inflation rate adjusts the STTHEA TTETASTAT I Sesvl
following adaptive expectation =d
(D) Inflation rate is independent of (D) HEHTERT § SRS AT X &
unemployment rate STHTd

50. Match the following and select the | 50. SireT @ ST @elt feered JarEd
correct answer from the codes given I I e
below : @ @ X

a) el |9es 1) TSsHE e

(@) Liquidity trap (1) Edmund Phelps

(b) Adaptive (2) Alfred Pigou | ) 3% UG (2) Fewwe iy
Expectations (c) H o (3) S FAE %

(¢) Wealtheffect (3) John Maynard (d) Y= & (4) faeed wiew

Keynes fagraret gmfev
(d) Restatement of (4) Milton .~
quantity theory Friedman
(A) (a)—(1), (b)—(2), (c)—(3),
Codes :
(d)—(4)
(A) (a)—(1), (b)—(2), (c)—(3),
(d)—(4) B) (@)—(3), (B)—(4), (c)—(1),
B) (a)—(3), (b)—(4), (e)—(1), @—2)
(@)—2) (©) (a)—(4), (B)—(3), (e)—(2),
(C) (a)—(4), (b)—(3), (c)—(2), (d)—(1)
o D) (@)—3), (B)—(1), ()—(2)
a)— ’ - ’ C)— )
D) (a)—(3), (b)—(1), (c)—(2), J4
(d)—4) (0
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